KAUABE - FEERYLERREREE ST 7 b UAERER

@ Alexandrium spp.: 0
D. fortii- 0

D. acuminata: 0

Alexandrium spp.:50
D. fortii: 0
D. acuminata: 30

L
L]
4,{) e
BEYE R .
K[ULB#E
8 @_ Alexandrium spp.:-
Alexandrium spp.: 0 D. fortii:
D. fortii: 0 D. acuminata:
D. acuminata: 0
'l
- '\ r

Alexandrium spp.: 0
D. fortii: 0
D. acuminata: 0

Alexandrium spp.: 0
g zocﬁ:fﬁgata: 0 E 2019E1ZEZE

£ SEU282B) DAEHER

BEIS5HN HIFH (cells/L)
SREHh S IKE Kig B Alexandrium s Dinophysis &
(°c) PP D. fortii D. acuminata Z DD Dinophysis

. Om 12.29 32.89

T 5m 13.38 33.60 50 0 30 0
Om 14.83 34.02

@fAH 5m 14.85 34.04 0 0 0 0
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Alexandrium spp.(cells/L)
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6838 490 430 4360 = 10 0
6848 - - - 110 - -
68108 860 550 20 0 0 60
6H18H 60 70 10 20 = =
6H248 30 10 0 10 0 0
718 30 0 20 0 0 0
7898 190 20 20 20 = =
78168 60 70 0 0 0 0
782280 0 0 0 0 0 0
7H298 0 0 0 0 0 0
8A6H 50 10 0 0 0 0
8H19H 40 0 20 0 0 0
8H26H 10 0 0 0 0 0
9A18H 30 0 10 0 = =
9H25H 0 0 0 0 0 =
98308 0 0 0 0 0 0
1087H 0 0 0 0 - -
108168 0 0 0 0 0 0
108218 0 0 0 0 0 0
108288 0 20 0 0 0 0
11A5H 60 0 0 0 0 0
118118 20 0 0 0 0 =
118188 10 0 0 0 0 0
118268 0 0 0 0 - -
1282H 50 0 0 0 = 0
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6H3H 10 170 90 - 0 20
684H - - - 0 - -
68108 20 70 40 130 70 30
6H18H 30 40 90 150 = =
68248 10 40 70 20 100 80
718 10 10 0 10 0 90
7898 0 10 0 0 = =
78168 0 0 0 0 20 0
78228 0 0 0 0 0 0
782980 0 0 0 0 40 0
8A6H 0 0 0 0 0 0
8A198 0 0 0 0 0 0
8H26H 0 0 0 0 0 0
9H18H 0 10 0 0 = —|
9H25H 0 20 0 0 0 =
98308 0 0 0 0 0 0
1087H 0 0 0 0 0 0
108168 0 0 0 0 0 0
108218 0 0 0 0 10 0
108288 0 0 0 0 0 0
1185H 0 0 0 0 0 0
118118 0 0 0 0 0 =
11818H 0 0 0 0 0 0
118268 0 0 0 0 - -
1282H 0 0 0 0 = 0
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6H3H 10 30 50 - 20 10
6848 - - - 30 = =
68108 40 180 0 0 0 20
6818H 180 30 0 30 - -
68248 1190 10 0 0 0 20
7818 1050 40 0 0 0 0
7H9H| 2680 0 0 0 - -
78168 210 30 10 0 0 0
78228 10 20 0 0 0 0
78298 0 10 20 0 0 0
8H6H 40 0 10 0 0 0
8A19H 150 0 0 0 0 0
8H26H 0 0 0 0 0 0
9H18H| 7590 270 10 0 - -
98258 650 0 0 0 0 -
9H30H 660 10 0 0 0 0
10878 730 30 0 0 0 0
108168 140 0 0 0 0 0
108218 360 10 0 0 0 0
10H28H 280 30 0 0 0 0
1185H 210 10 0 0 0 0
118118 30 0 0 0 0 -
118188 30 10 0 0 0 0
118268 10 0 0 0 = =
12H2H 30 0 0 0 - 0
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